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[HONOURS]
Paper : IV
INEW SYLLABUS]
Full Marks : 100 Time : 4 Hours

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in
their own words as far as practicable.

1.  Answer any five questions: 1x5=5
- Afb 2sa Tea s ¢

1)  What is the probability of getting 6 in the toss
of a fair dice?

@B 4 eJCelz 4G BleTeet v e A Rye] e 2

i1) How many experimental methods are there,

according to Mill?

TR 0o Aol oimfe 6 2

iii)) What will be the negation of a tautologous
statement?

GG FOLTG] I5I(S WY TG D 2SN A2

iv)  Give example of a singular proposition.

G A I5cT Trigel wie |
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v)  Translate the following sentence into a

standard propositional form:
BEGIRCEISIHeAR STk AR
There are white elephants.
il 7S @z |

vi) How many categorical proposition are there

according to quantify? What are they?
AT SRR e o9 T @ F e
vii)) What will be the negation of a contingent
statement?
GG NS oo folCak 0T 6 AN AT 2
viii) What is meant by a sufficient condition of an
event?

@I a6 TR I %1 Fe10e [ @RI 2

2. Answer any ten questions: 2x10=20

-1 veifB 2o Teq e ¢

1)  Distinguish between the remote cause and the
proximate cause of an event.
(I G5 GO TREaS! Il 8 FS] PRI
ey AL A |

i1)  Distinguish between good analogy and bad
analogy.
Tex Tl @ % TN ) 2L I |

iii) What is meant by the fallacy of denying the
antecedent? Give Example.
sl feiers (i qeT0e S (@R 2 Trigae v |
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Vi)

vii)

viii)

X1)
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Why is FESAPO not regarded as valid by the
modern logicians?
iy heReEise @ FESAPO-@ (34 I
R T 2
Express the following in Venn diagram:
I3 AT (S ora & el ¢
There is no unicorn
LTl (12
What is enthymeme? Explain with example.
SRR T I A 2 (RIS WG |
What is complementary class?
Al T Fe

Give the converse of the obverse of the

following:
fFefaiie maat Rafren wRfee w# nie
No S is non-P
(I S P |
Give an example of a constructive Dilemma.
GT> oA s IR YBIE 716 |

Write the schematic form of the method of

difference.
TIOCHR 2Maion ACHFoT T =0 |
What is meant by exclusive sense of the word

'or'? Give example.

B SIGIS R RN TR IS RE NN RS G EAE
T A |
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Xii)

xiii)

Xiv)

XV)

If p v q v ris false then determine the truth

value of the following : (~p>q)>(ps~q)

I p v q v r L 2 O MRS Rt
779 0 R A 2 (~ p o q) S (ps~q)

Give the obverse of the converse of the
following: some non-S are P.

fferiee armia wiRfores e st wie ¢
(FICN I &-S 23 P

What is the probability of getting exactly two

heads in tossing two coins at a time?

ufs e I @10 Wowel S0 = 1 (2
AT GO F© 2

What is meant by the fallacy of affirming the

consequent?
5] R G (1T F6700 F (@R 2

3.  Answer any five questions: 6x5=30
(T (I A 20e Ve s ¢
1)  Calculate the probability: 3+3
ARy el el ¢
a)  Whatis the probability of getting at most
one tail in the three tosses of a coin?
GG I TSR W] AT T & G
(B AT HGITS! T ?
b)  What is the probability of rolling three
dices so that the total number of points
that appear on their top faces is 3?
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iii)

Vi)

19(A)/NS

feafs s[cera §ibee wia e it ©F faia
3 @ioee fon 2e7 TSRyl T 2

What is Adhoc hypothesis? Explain with
example.
AR () 253 FIE A RIS A1 I |

Test the validity of the following arguments

by Venn Diagram: 3+3
confbeas ARIE ke Jfewln el fom
Al 8
a)  No one present is out of work.
No member are absent.
Therefore, all members are employed.
Toifze Ifema (8 FHL 77 |
I ST SIS o7 |
AR T AT T (G |
b) BRAMANTIP

Distinguish between logical Equivalence and
Material Equivalence with example.

MBIGHE (TG I '€ RS HAICTR T 21125
4

Distinguish between scientific and

unscientific explanation.
(eI @ STeslels A [ Al FE) |

Distinguish, with example, between rules of

inference and rules of replacement.
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vii)

wEIeE, Y& ¢ gaiessel [Kida ey #id S|
Explain different laws of thought.

fowla fafen sasfer i s |

viil) Determine the form and test the validity of the

4.  Answer any three questions:

following arguments: 3+3

fsfaiee Yfealnm siwr o s@ a3k @rst

ENGIRICIH
a)  Either I will stay at home today or I will

go to college. Today I will stay at home
So, I will not go to college today.
2 e SIS TS AT, TS S FECE
R | ST o AT A1 | TSN e iy
IeTCe Q1

b)  If this syllogism commits the fallacy of

affirming the consequent, then it is
invalid. This syllogism does not commit
the fallacy of affirming the consequent.
Therefore, this syllogism is valid.

I G2 IS (G o9l TP @il @I 18 27,
wizre @it (34 | 92 I (G Tol TP Siee
W 48 T | oAk, 92 Y& @4 |
15%3=45

@-Fie fo=B erea Teq wie ¢

i)
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a) Explain Mill's method of concomitant

variation.

fRIETa T2olfaada oiafe Qe e |
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iii)
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b)  What is its special importance? Explain.
3 ~afeq oo wwg 2 A 79|
Construct a formal proof of validity for each
of the following: 5%3

fferiie Ifeuler Smmae (el 99 F 2
a)  Jv(~JK)
JoL
/o (Le)=1T
b) CoB/..DDD
c) (HDPl(SoW)
/. (HeS) D (PeW)
Construct a formal proof of validity for each
of the following: 5x%3

e Ifesfm siemers el 5w I ¢
a)  Socrates is mortal.

Therefore, everything is either mortal or
not mortal.

G OA T T |

AR, 7Fe [$g 2 TGS FLA T
SRR |

b)  (x)(Qx D Rx)

(EIX) (Qx Y Rx)
(EIX)RX
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c) (x)[Bx O(Ix> Wx)]

(x)[Bx D (WX D Ix)]

(x){Bx D [(Ix \% WX) D (Ix-Wx)]}
What is hypothesis? Explain the different
criteria for evaluating an hypothesis.

&% DI A0 2 & PRI [ioq qawosfe

O[T < |
What is argument by analogy? Explain with

illustration, different criteria for appraising
analogical argument. 3+12
Tl Y& I A0 2 G G PRI SAmeseser
TRIGHR H((TID 1 |

[8]



